

AGREEMENT BETWEEN OWNER AND CONTRACTOR FOR CONSTRUCTION CONTRACT (STIPULATED PRICE)

THIS AGREEMENT is by and between	City of Sheboygan	("Owner") and					
Buteyn-Peterson Construction, Inc.		("Contractor")					
Owner and Contractor hereby agree as follows:							

ARTICLE 1 – WORK

1.01 Contractor shall complete all Work as specified or indicated in the Contract Documents. The Work is generally described as follows: municipal street and utility construction.

ARTICLE 2 - THE PROJECT

2.01 The Project, of which the Work under the Contract Documents is a part, is generally described as follows: Taylor Drive and Wilgus Avenue Reconstruction, City of Sheboygan, Sheboygan County

ARTICLE 3 – ENGINEER

- 3.01 The part of the Project that pertains to the Work has been designed by JT Engineering, Inc.
- 3.02 The Engineering Division, Department of Public Works, City of Sheboygan, Sheboygan, WI will assume all duties and responsibilities, and have the rights and authority assigned to Engineer in the Contract Documents in connection with the completion of the Work in accordance with the Contract Documents.

ARTICLE 4 - CONTRACT TIMES

- 4.01 Time of the Essence
 - A. All time limits for Milestones, if any, Substantial Completion, and completion and readiness for final payment as stated in the Contract Documents are of the essence of the Contract.
- 4.02 Contract Times: Dates
 - A. The Work will be substantially completed within 40 working days and completed and ready for final payment in accordance with Paragraph 15.06 of the General Conditions on or before the 14th day following substantial completion.
- 4.03 Milestones
 - A. Parts of the Work must be substantially completed on or before the following Milestone(s):
 - 1. N/A
- 4.04 Liquidated Damages
 - A. Contractor and Owner recognize that time is of the essence as stated in Paragraph 4.01 above and that Owner will suffer financial and other losses if the Work is not completed and Milestones not achieved within the Contract Times, as duly modified. The parties also recognize the delays, expense, and difficulties involved in proving, in a legal or arbitration proceeding, the actual loss suffered by Owner if the Work is not completed on time. Accordingly, instead of requiring any such proof, Owner and Contractor agree that as liquidated damages for delay (but not as a penalty):

				PF	ROJECT MANUAL
CITY OF SHEBOYGAN	Engineering Division	Document Title:	Agreement		
PUBLIC WORKS	2026 New Jersey Ave	Section:	00 52 00		
	Sheboygan, WI 53081	Bid Number:	2490-24	Page:	2 of 7

- Substantial Completion: Contractor shall pay Owner the amount identified in paragraph 19.01 of the Supplementary Conditions for each day that expires after the time (as duly adjusted pursuant to the Contract) specified in Paragraph 4.02.A above for Substantial Completion until the Work is substantially complete.
- 2. Completion of Remaining Work: After Substantial Completion, if Contractor shall neglect, refuse, or fail to complete the remaining Work within the Contract Times (as duly adjusted pursuant to the Contract) for completion and readiness for final payment, Contractor shall pay Owner the amount identified in paragraph 19.01 of the Supplementary Conditions for each day that expires after such time until the Work is completed and ready for final payment.
- 3. Liquidated damages for failing to timely attain Substantial Completion and final completion are not additive and will not be imposed concurrently.
- 4. Milestones: Contractor shall pay Owner the amount identified in paragraph 19.01 of the Supplementary Conditions for each day that expires after the time (as duly adjusted pursuant to the Contract) specified above for achievement of each Milestone, until Milestone is achieved.
- B. If Owner recovers liquidated damages for a delay in completion by Contractor, then such liquidated damages are Owner's sole and exclusive remedy for such delay, and Owner is precluded from recovering any other damages, whether actual, direct, excess, or consequential, for such delay, except for special damages (if any) specified in this Agreement.

4.05 Special Damages

- C. In addition to the amount provided for liquidated damages, Contractor shall reimburse Owner (1) for any fines or penalties imposed on Owner as a direct result of the Contractor's failure to attain Substantial Completion according to the Contract Times, and (2) for the actual costs reasonably incurred by Owner for engineering, construction observation, inspection, and administrative services needed after the time specified in Paragraph 4.02 for Substantial Completion (as duly adjusted pursuant to the Contract), until the Work is substantially complete.
- D. After Contractor achieves Substantial Completion, if Contractor shall neglect, refuse, or fail to complete the remaining Work within the Contract Times, Contractor shall reimburse Owner for the actual costs reasonably incurred by Owner for engineering, construction observation, inspection, and administrative services needed after the time specified in Paragraph 4.02 for Work to be completed and ready for final payment (as duly adjusted pursuant to the Contract), until the Work is completed and ready for final payment.

ARTICLE 5 - CONTRACT PRICE

- 5.01 Owner shall pay Contractor for completion of the Work in accordance with the Contract Documents the amounts that follow, subject to adjustment under the Contract:
 - A. For all Unit Price Work, an amount equal to the sum of the extended prices (established for each separately identified item of Unit Price Work by multiplying the unit price times the actual quantity of that item) as stated in Contractor's Bid, attached hereto as an exhibit.
 - B. The extended prices for Unit Price Work set forth as of the Effective Date of the Contract are based on estimated quantities. As provided in Paragraph 13.03 of the General Conditions, estimated quantities are not guaranteed, and determinations of actual quantities and classifications are to be made by Engineer.

				PF	ROJECT MANUAL
CITY OF SHEBOYGAN	Engineering Division	Document Title:	Agreement		
PUBLIC WORKS	2026 New Jersey Ave Sheboygan, WI 53081	Section:	00 52 00		
		Bid Number:	2490-24	Page:	3 of 7

ARTICLE 6 - PAYMENT PROCEDURES

6.01 Submittal and Processing of Payments

A. Contractor shall submit Applications for Payment in accordance with Article 15 of the General Conditions. Applications for Payment will be processed by Engineer as provided in the General Conditions.

6.02 Progress Payments; Retainage

- A. Owner shall make progress payments on account of the Contract Price on the basis of Contractor's Applications for Payment on the third Wednesday of the Month during performance of the Work as provided in Paragraph 6.02.A.1 below, provided that such Applications for Payment have been submitted in a timely manner and otherwise meet the requirements of the Contract. All such payments will be measured by the Schedule of Values established as provided in the General Conditions (and in the case of Unit Price Work based on the number of units completed) or, in the event there is no Schedule of Values, as provided elsewhere in the Contract.
 - Prior to Substantial Completion, progress payments will be made in an amount equal to the percentage indicated below but, in each case, less the aggregate of payments previously made and less such amounts as Owner may withhold, including but not limited to liquidated damages, in accordance with the Contract
 - a. 95 percent of Work completed (with the balance being retainage). If the Work has been 50 percent completed as determined by Engineer, and if the character and progress of the Work have been satisfactory to Owner and Engineer, then as long as the character and progress of the Work remain satisfactory to Owner and Engineer, there will be no additional retainage; and
 - b. O percent of cost of materials and equipment not incorporated in the Work (with the balance being retainage).
- B. Upon Substantial Completion, Owner shall pay an amount sufficient to increase total payments to Contractor to 100 percent of the Work completed, less such amounts set off by Owner pursuant to Paragraph 15.01.E of the General Conditions, and less 200 percent of Engineer's estimate of the value of Work to be completed or corrected as shown on the punch list of items to be completed or corrected prior to final payment.

6.03 Final Payment

A. Upon final completion and acceptance of the Work in accordance with Paragraph 15.06 of the General Conditions, Owner shall pay the remainder of the Contract Price as recommended by Engineer as provided in said Paragraph 15.06.

6.04 Interest

A. All amounts not paid when due shall bear interest at the rate of 0 percent per annum.

ARTICLE 7 - CONTRACT DOCUMENTS

7.01 *Contents*

- A. The Contract Documents consist of the following:
 - 1. This Agreement.
 - 2. Bonds:
 - a. Performance bond (together with power of attorney).

				PF	ROJECT MANUAL
CITY OF SHEBOYGAN	Engineering Division	Document Title:	Agreement		
PUBLIC WORKS	2026 New Jersey Ave Sheboygan, WI 53081	Section:	00 52 00		
		Bid Number:	2490-24	Page:	4 of 7

- b. Payment bond (together with power of attorney).
- 3. Specifications as listed in the table of contents of the project manual (copy of list attached and incorporated by reference).
- 4. Drawings as listed in the table of contents of the drawings (copy of list attached and incorporated by reference).
- 5. Addenda (not attached but incorporated by reference)
 - a. Number 1 dated 4/21/25
- 6. Exhibits to this Agreement (enumerated as follows):
 - a. Contractor's Bid consisting of 2 pages.
- 7. The following which may be delivered or issued on or after the Effective Date of the Contract and are not attached hereto:
 - a. Notice to Proceed.
 - b. Work Change Directives,
 - c. Change Orders,
 - d. Field Order.
 - e. Task Orders.
- B. The Contract Documents listed in Paragraph 7.01.A are attached to this Agreement (except as expressly noted otherwise above).
- C. There are no Contract Documents other than those listed above in this Article 7.
- D. The Contract Documents may only be amended, modified, or supplemented as provided in the Contract.

ARTICLE 8 - ARTICLE 8-REPRESENTATIONS, CERTIFICATIONS, AND STIPULATIONS

8.01 Contractor's Representations

- A. In order to induce Owner to enter into this Contract, Contractor makes the following representations:
 - Contractor has examined and carefully studied the Contract Documents, including Addenda.
 - Contractor has visited the Site, conducted a thorough visual examination of the Site and adjacent areas, and become familiar with the general, local, and Site conditions that may affect cost, progress, and performance of the Work.
 - 3. Contractor is familiar with all Laws and Regulations that may affect cost, progress, and performance of the Work.
 - 4. Contractor has carefully studied the reports of explorations and tests of subsurface conditions at or adjacent to the Site and the drawings of physical conditions relating to existing surface or subsurface structures at the Site that have been identified in the Supplementary Conditions, with respect to the Technical Data in such reports and drawings.
 - 5. Contractor has carefully studied the reports and drawings relating to Hazardous Environmental Conditions, if any, at or adjacent to the Site that have been identified in

				PR	ROJECT MANUAL
CITY OF SHEBOYGAN	Engineering Division	Document Title:	Agreement		
PUBLIC WORKS	2026 New Jersey Ave	Section:	00 52 00		
	Sheboygan, WI 53081	Bid Number:	2490-24	Page:	5 of 7

the Supplementary Conditions, with respect to Technical Data in such reports and drawings.

- 6. Contractor has considered the information known to Contractor itself; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Contract Documents; and the Technical Data identified in the Supplementary Conditions or by definition, with respect to the effect of such information, observations, and Technical Data on (a) the cost, progress, and performance of the Work; (b) the means, methods, techniques, sequences, and procedures of construction to be employed by Contractor; and (c) Contractor's safety precautions and programs.
- 7. Based on the information and observations referred to in the preceding paragraph, Contractor agrees that no further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the Work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract.
- Contractor is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Contract Documents.
- Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Contractor has discovered in the Contract Documents, and of discrepancies between Site conditions and the Contract Documents, and the written resolution thereof by Engineer is acceptable to Contractor.
- 10. The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the Work.

8.02 Contractor's Certifications

- A. Contractor certifies that it has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for or in executing the Contract. For the purposes of this Paragraph 8.02:
 - "corrupt practice" means the offering, giving, receiving, or soliciting of anything of value likely to influence the action of a public official in the bidding process or in the Contract execution;
 - "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process or the execution of the Contract to the detriment of Owner,
 (b) to establish Bid or Contract prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition;
 - "collusive practice" means a scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish Bid prices at artificial, non-competitive levels; and
 - 4. "coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

8.03 Standard General Conditions

A. Owner stipulates that if the General Conditions that are made a part of this Contract are EJCDC® C-700, Standard General Conditions for the Construction Contract (2018), published by the Engineers Joint Contract Documents Committee, and if Owner is the party that has furnished said General Conditions, then Owner has plainly shown all modifications to the standard wording of such published document to the Contractor, through a process such as highlighting or "track changes" (redline/strikeout), or in the Supplementary Conditions.

				PF	ROJECT MANUAL
CITY OF SHEBOYGAN	Engineering Division	Document Title:	Agreement		
PUBLIC WORKS	2026 New Jersey Ave Sheboygan, WI 53081	Section:	00 52 00		
		Bid Number:	2490-24	Page:	6 of 7

(Continued on next page)



Engineering Division 2026 New Jersey Ave Sheboygan, WI 53081

		PR	COJECT	MANUAL
Document Title:	Agreement			
Section:	00 52 00			
Bid Number:	2490-24	Page:	7 of 7	

IN WITNESS WHEREOF, Owner and Contractor have signed this Agreement.

This Agreem	ent will be effective on	(which is the Effective Date of the Contract).
OWNER: (Signatures a	authorized pursuant to Res25-2	CONTRACTOR:
City of Shebo	pygan	Buteyn-Peterson Construction Company, Inc.
Ву:		Ву:
Name, Title:	(signature) Ryan Sorenson, Mayor	(signature) Name, Title: (printed)
Date:		Date:
Attest:		(If Bidder is a corporation, a limited liability company, a partnership, or a joint venture, attach evidence of authority to sign.)
Ву:		Address for giving notices:
Name, Title:	(signature) Meredith DeBruin, City Clerk	
Date:		
	•	
Approved by:	:	
	(signature)	
Name, Title:	Evan Grossen, Deputy Finance Director/Comptroller	
Date:		
Approved as	to form and Execution by:	
	(signature)	
Name, Title:	City Attorney	
Date:		

				PI	ROJECT MANUAL
CITY OF SHEBOYGAN	Engineering Division	Document Title:	Table of Con		
PUBLIC WORKS	2026 New Jersey Ave Sheboygan, WI 53081	Section:	00 01 10		
		Bid Number:	C25-005	Page:	1 of 1

Taylor Drive and Wilgus Avenue Reconstruction City of Sheboygan, Sheboygan County

SECTION	TITLE	Pages
00 00 00	PROCUREMENT AND CONTRACTING REQUIREMENTS	
	Introductory Information	
00 01 01	Cover	1
00 01 10	Table of Contents	2
	Procurement Requirements	
00 11 13	Advertisement for Bids	2
00 21 13	Instructions for Bidders	10
00 41 43	Bid Form	6
00 41 44	Unit Price Worksheet	1
00 41 44.1	Schedule of Prices	3
00 42 13	Bid Bond	2
00 45 13	Bidder's Proof of Responsibility	5
00 45 20	Bidder's Proof of Responsibility and Non-Collusion Affidavit - Subcontractor	3
00 45 50	List of Subcontractors	1
	Contracting Requirements	
00 52 00	Agreement	7
00 55 00	Notice to Proceed	1
00 61 13	Performance Bond Form	3
00 61 14	Payment Bond Form	3
00 62 11	Submittal Cover	1
00 62 76	Application for Payment	2
00 63 13	Request for Information	1
00 63 63	Change Order Form	2
00 65 16	Certificate of Substantial Completion	1
00 65 18	Contractor's Affidavit of Compliance Certification and Release	1
00 65 19	Consent of Surety to Final Payment	1
00 72 00	Standard General Conditions of the Construction Contract – 2018	78
00 73 00	Supplementary Conditions	13
	GENERAL REQUIREMENTS	
01 11 00	Summary of Work	2
01 14 00	Work Restrictions	5
01 57 19	Temporary Environmental Controls	2
01 71 23	Construction Staking	2
01 78 00	Closeout Requirements	2
01 78 19	Project Record Requirements	2
	SPECIAL PROVISIONS	10

TITLE SHEET

TAYLOR DRIVE & WILGUS AVENUE INTERSECTION RECONSTRUCTION

2026 New Jersey Aveni SHEBOYGAN, WI 53081

Sheboygan

TAYLOR DR AND WILGUS AVE CITY OF SHEBOYGAN

NS:	DESCRIPTION:								
DRAFT/REVISIONS:	DATE:								
DRA	NO.	1	2	3	4				

230003

1/94

× ×

Dial [31] or (800)242-8511

1/4MI

SCALE 0

LAYOUT

THE EXACT LOCATION OF UNDERGROUND UTILITIES ARE UNKNOWN. THE CONTRACTOR SHALL CONTACT DIGGERS HOTLINE AND ALL OTHER UTILITY OWNERS WHICH ARE WITHIN PROJECT LIMITS, BEFORE COMMENCING EXCAVATION. www.DiggersHotline.com

CITY OF SHEBOYGAN

DEPARTMENT OF PUBLIC WORKS ENGINEERING DIVISION

GREEN BAY OFFICE 1077 CENTENNIAL CENTRE BLVD HOBART, WI 54155

TAYLOR DRIVE AND WILGUS AVENUE **RECONSTRUCTION**



1BOLS	
SYME	
ONAL	
VENTI	
SON	

	İ	-	_			ì	30088,	(X
PLAN CORPORATE UMITS	PROPERTY LINE	LOT LINE	LIMITED HIGHWAY EASEMENT	EXISTING RIGHT OF WAY	PROPOSED OR NEW R/W LINE	SLOPE INTERCEPT	REFERENCE LINE	EXISTING CULVERT	PROPOSED CULVERT (Box or Pipe)	

MARSH OR ROCK PROFILE (To be noted as such) CULVERT (Profile View) ELECTRIC OVERHEAD ELECTRIC DRIGINAL GROUND GRADE ELEVATION SANITARY SEWER SPECIAL DITCH FIBER OPTIC UTILITIES 11111111111

COMBUSTIBLE FLUIDS

MARSH AREA

WOODED OR SHRUB AREA

WATER UTILITY PEDESTAL POWER POLE TELEPHONE POLE

% % ⊢ ≥

STORM SEWER

FELEPHONE

43

CALL A MINIMUM OF 3 WORK DAYS NOTICE BEFORE YOU EXCAVATE.

INDEX

DESCRIPTION TITLE SHEET

SHEET NO.

13 15 17 18 19 21 23 28 28

TRAFFIC SIGNAL TEMPORARY

TRAFFIC SIGNAL PHASING

TRAFFIC SIGNAL REMOVAL

PERMANENT SIGNING & PAVEMENT MARKINGS

PAVEMENT GRADES

TYPICAL SECTIONS GENERAL NOTES

REMOVAL PLAN PLAN DETAILS CURB RAMPS

MISCELLANEOUS QUANTIFIES

PLAN AND PROFILE

CROSS SECTIONS

Taylor Drive and Wilgus Avenue Reconstruction (#9628343)

Owner: Sheboygan WI, City of Solicitor: Sheboygan WI, City of 04/23/2025 10:00 AM CDT

					Buteyn-Peterson	
						on Company
Section Title	Line Item Code	Item Description	UofM	Quantity	Unit Price	Extension
	1 201.0105	CLEARING	STA	2.00	\$2,500.00	\$5,000.00
	2 201.0205	GRUBBING REMOVING CONCRETE PAVEMENT	STA SY	2.00	\$500.00	\$1,000.00 \$16,912.00
	3 204.01 4 204.015	REMOVING CURB & GUTTER	LF	2114.00 369.00	\$8.00 \$12.00	\$4,428.00
	5 204.015	REMOVING CONCRETE SIDEWALK	SY	304.00	\$12.00	\$3,648.00
	6 204.0195	REMOVING CONCRETE SIDEWALK REMOVING CONCRETE BASES	EACH	8.00	\$200.00	\$1,600.00
	7 204.022	REMOVING INLETS	EACH	2.00	\$500.00	\$1,000.00
	8 205.01	EXCAVATION COMMON	CY	1572.00	\$35.00	\$55,020.00
	9 213.01	FINISHING ROADWAY (PROJECT)	EACH	1.00		\$1,000.00
	10 305.012	BASE AGGREGATE DENSE 1 1/4-INCH	TON	1078.00	\$30.00	\$32,340.00
	11 415.008	CONCRETE PAVEMENT 8-INCH	SY	2000.00	\$80.39	\$160,780.00
	12 416.061	DRILLED TIE BARS	EACH	47.00	\$10.00	\$470.00
	13 416.062	DRILLED DOWEL BARS	EACH	21.00	\$16.50	\$346.50
	14 520.8	CONCRETE COLLARS FOR PIPE	EACH	1.00	\$1,000.00	\$1,000.00
	15 601.0409	CONCRETE CURB & GUTTER 30-INCH TYPE A	LF	841.00	\$23.95	\$20,141.95
	16 601.06	CONCRETE CURB PEDESTRIAN	LF	373.00	\$35.00	\$13,055.00
	17 602.041	CONCRETE SIDEWALK 5-INCH	SF	2938.00	\$6.85	\$20,125.30
	18 602.0515	CURB RAMP DETECTABLE WARNING FIELD NATURAL PATINA NATURAL PATINA	SF	60.00	\$32.00	\$1,920.00
	19 602.0615	CURB RAMP DETECTABLE WARNING FIELD RADIAL NATURAL PATINA	SF	21.00	\$52.00	\$1,092.00
	20 608.0312	STORM SEWER PIPE REINFORCED CONCRETE CLASS III 12-INCH	LF	21.00	\$150.00	\$3,150.00
	21 611.0606	INLET COVERS TYPE B	EACH	2.00	\$850.00	\$1,700.00
	22 611.1004	CATCH BASINS 4-FT DIAMETER	EACH	2.00	\$3,500.00	\$7,000.00
	23 611.2004	MANHOLES 4-FT DIAMETER	EACH	1.00	\$7,500.00	\$7,500.00
	24 611.811	ADJUSTING MANHOLE COVERS	EACH	4.00		\$5,000.00
	25 618.01	MAINTENANCE AND REPAIR OF HAUL ROADS (PROJECT)	EACH	1.00	\$0.01	\$0.01
	26 619.1	MOBILIZATION	EACH		\$71,500.00	\$71,500.00
	27 620.03	CONCRETE MEDIAN SLOPED NOSE	SF	16.00	\$14.00	\$224.00
	28 624.01	WATER	MGAL	16.00	\$0.01	\$0.16
	29 628.1905	MOBILIZATIONS EROSION CONTROL	EACH	10.00	\$0.01	\$0.10
	30 628.191	MOBILIZATIONS EMERGENCY EROSION CONTROL	EACH	8.00	\$0.01	\$0.08
	31 634.0814 32 637.221	POSTS TUBULAR STEEL 2X2-INCH X 14-FT	EACH SF	2.00 45.72	\$350.00	\$700.00
	33 638.2102	SIGNS TYPE II REFLECTIVE H MOVING SIGNS TYPE II	EACH	10.00	\$65.00 \$350.00	\$2,971.80 \$3,500.00
	34 638.2602	REMOVING SIGNS TYPE II	EACH	6.00	\$150.00	\$900.00
	35 638.3	REMOVING SIGNS TIPE II REMOVING SMALL SIGN SUPPORTS	EACH	2.00	\$150.00	\$300.00
	36 638.4	MOVING SMALL SIGN SUPPORTS	EACH	3.00	\$350.00	\$1,050.00
	37 646.102	PAVEMENT MARKING LINE EPOXY 4-INCH	LF	635.00	\$3.50	\$2,222.50
	38 646.302	PAVEMENT MARKING LINE EPOXY 8-INCH	LF	374.00	\$7.00	\$2,618.00
	39 646.502	PAVEMENT MARKING ARROW EPOXY	EACH	4.00	\$295.00	\$1,180.00
	40 646.512	PAVEMENT MARKING WORD EPOXY	EACH	1.00	\$300.00	\$300.00
	41 646.612	PAVEMENT MARKING STOP LINE EPOXY 18-INCH	LF	86.00	\$21.00	\$1,806.00
	42 646.742	PAVEMENT MARKING CROSSWALK EPOXY TRANSVERSE LINE 6-INCH	LF	398.00	\$15.00	\$5,970.00
	43 652.0225	CONDUIT RIGID NONMETALLIC SCHEDULE 40 2-INCH	LF	105.00	\$10.00	\$1,050.00
	44 652.0235	CONDUIT RIGID NONMETALLIC SCHEDULE 40 3-INCH	LF	270.00	\$14.00	\$3,780.00
	45 652.0615	CONDUIT SPECIAL 3-INCH	LF	780.00	\$32.00	\$24,960.00
	46 653.0905	REMOVING PULL BOXES	EACH	14.00	\$75.00	\$1,050.00
	47 653.0164	PULL BOXES NON-CONDUCTIVE 24X42-INCH	EACH	10.00	\$2,100.00	\$21,000.00
	48 654.0101	CONCRETE BASES TYPE 1	EACH	5.00	\$1,500.00	\$7,500.00
	49 654.011	CONCRETE BASES TYPE 10	EACH	1.00	\$7,500.00	\$7,500.00
	50 654.0113	CONCRETE BASES TYPE 13	EACH	2.00	\$18,000.00	\$36,000.00
	51 655.023	CABLE TRAFFIC SIGNAL 5-14 AWG	LF	770.00	\$2.45	\$1,886.50
	52 655.026	CABLE TRAFFIC SIGNAL 12-14 AWG	LF	1425.00	\$4.25	\$6,056.25
	53 655.0305	CABLE TYPE UF 2-12 AWG GROUNDED	LF	515.00		\$927.00
	54 655.0515	ELECTRICAL WIRE TRAFFIC SIGNALS 10 AWG	LF	1245.00	\$0.80	\$996.00
	55 657.01	PEDESTAL BASES	EACH	6.00	\$255.00	\$1,530.00
	56 657.035	POLES TYPE 10	EACH	1.00		\$8,200.00
	57 657.036	POLES TYPE 13	EACH		\$14,250.00	\$28,500.00
	58 657.042	TRAFFIC SIGNAL STANDARDS ALUMINUM 13-FT	EACH	4.00	\$535.00	\$2,140.00
	59 657.0425	TRAFFIC SIGNAL STANDARDS ALUMINUM 15-FT	EACH	1.00	\$570.00	\$570.00
	60 657.043	TRAFFIC SIGNAL STANDARDS ALUMINUM 10-FT	EACH	1.00		\$490.00
	61 657.053	MONOTURE ARMS 30-FT	EACH	1.00		\$4,863.00
	62 657.055	MONOTUBE ARMS 50-FT	EACH	2.00	\$11,881.00	\$23,762.00

	63 657.0808	LUMINAIRE ARMS STEEL 8-FT	EACH	3.00	\$1,700.00	\$5,100.00
	64 658.0173	TRAFFIC SIGNAL FACE 3S 12-INCH	EACH	12.00	\$690.00	\$8,280.00
	65 658.0174	TRAFFIC SIGNAL FACE 4S 12-INCH	EACH	4.00	\$870.00	\$3,480.00
	66 658.0416	PEDESTRIAN SIGNAL FACE 16-INCH	EACH	6.00	\$505.00	\$3,030.00
	67 658.05	PEDESTRIAN PUSH BUTTONS	EACH	6.00	\$420.00	\$2,520.00
	68 658.5070.01	SIGNAL MOUNTING HARDWARE (TAYLOR DR & WILGUS AVE)	EACH	1.00	\$4,250.00	\$4,250.00
	69 659.1125	LUMINAIRES UTILITY LED C	EACH	3.00	\$360.00	\$1,080.00
	70 690.025	SAWING CONCRETE	LF	695.00	\$3.00	\$2,085.00
	71 SPV.0060.01	REMOVING TRAFFIC SIGNAL - TAYLOR DR & WILGUS AVE	EACH	1.00	\$7,500.00	\$7,500.00
	72 SPV.0060.02	SALVAGE AND REINSTALL VIDEO DETECTION SYSTEM	EACH	1.00	\$5,500.00	\$5,500.00
	73 SPV.0060.03	TRAFFIC SIGNAL CABINET REWIRING AND REPROGRAMMING	EACH	1.00	\$3,000.00	\$3,000.00
	74 SPV.0105.01	TRAFFIC CONTROL - TAYLOR & WILGUS	LS	1.00	\$11,750.00	\$11,750.00
	75 SPV.0105.02	EROSION CONTROL & RESOTRATION - TAYLOR & WILGUS	LS	1.00	\$15,000.00	\$15,000.00
	76 SPV.0105.03	BLACK TRAFFIC SIGNAL EQUIPMENT - TAYLOR DR & WILGUS AVE	LS	1.00	\$10,000.00	\$10,000.00
Total	_			•		\$725,807.15